BISHE (EOREVEE2E, BIEHER) \ ]
A RUOREHAE
B £ T B O B B AETAKE HANERE(ZOIDIE
m = = =z F RS B8 KGR iR
A R [ E SF1656H190
i X_ R B BEIGRT ERERRBEA
1_ASLEHE (8fr: )
I = ¥F & A% BELE-EOBEEXIEEMH A _fL &= %@ o _ E LB OAE B | w N
2 2 | mEsRER | AEomexiiam | E T B [ E 7 5 [ & 3.8 Bo& L = BB |y o | BAEHE
ARt B 7,060, 000 ANE)
XS EmE 4,070, 000 PIE) AENH AR5 —
FR4BREES T XA 4,090, 000 PIE) 1
TEIE e LS 2085 000 5> 5
4,521,000 [ERSHERESR 2.090. 000 2 B 4, 455, 000
(4,004,000 [BREHABALER 2130, 000 AE) BALHIEAE ~E
e e 2050, 000 PIC) REER BA HE
RS BRED 2170, 000 2 0
[ERLOIE]
1 TFFEMKE] E. ALELRBEED1 009D 11 0ICHET ILLEEFRHETTH &, 54 EH
2 [HREFREE] . ALZELEMED10097D 1 1 0IZHETIEEEF ( ) CEHEHTIIE, 01 HARFIEHRE
3 TAHLSE 3. ALENRHE - ZHALLE CEERIRE=OSE) 2EMT 5L, 0 THEFRS
4 THEHSE) 3. AMLENEREL --ZHAZR2EN 100501 10IcHLT 22EERHTHC & 03 HHEE
04 BZTEZDHBEY
o mghm= (845 - /) 05 KEHEERATSH
EE b3 7l ZHOHEFERD % 5 24 & %§ B T H i T = 18 R T = = D i = 06 $FFETiE
A H XEF&aHmERUCEFR|I T " EFERA[ZRKAB
BB WESHAN B (ER)
N EIER L=23.7m (PRP¢®200)
INBIZ Sik—)L N=28FF
6.6 20 4,455,000 | R6.6.20 R6.12.2 NEx A
z EEa @ L ORI 1 g g I % % 0 # B z E @ H
-19, 800 Wﬁmﬁ FMEFIRAA ﬂzﬁi%% 23,7 (PRP 6 200) ?Ef%gé%%#(ﬁ%%#)ﬁﬁﬁt
T =23. m &k DT=zT=
R6.11.22 (4, 435, 200) R6.6. 20 R6.12.2 INEI= SR L N=2EFR
BB HNAETS —1 2v4EH N=3EFr
- ZEa @ L ORI 1 g g I % % 0 % B z ®E @ H
BRLHIBAM RER
= , _
z 3 EEa @ LIEORIHE 1 1 3 5 m | I ¥ % 0 B E x E B #
% EEa @I EORIHE | 1 5 5 m | I % % 0 B xr E B f@
(B LOEE]

1 TEEEHE T, HORVBEEOBRELTHL. (

) RIZITERRDOZHNEEZLHT 5.




